' GROUP 6 STRUCTURE

1. CAB AND ACCESSORIES MOUNTING

Air con cover

1609A9CM09

- Tightening torque

[tem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 M6x1.0 1.05+t0.2 7.6%1.45 5 M10%x1.5 691714 49.9+10.1
2 M 8x1.25 251705 18.11t3.6 6 M12x1.75 12.8*3.0 92.61+21.7
3 M 8x1.25 3.43*T0.7 248751 7 M30 %< 3.5 199+30 1439+217
4 M10x1.5 47109 3416.5




2. CAB INTERIOR MOUNTING

Seat——

Console box(RH) —

Travel lever

Foot rest

Foot rest bracket Viscous mount

Bottom plate

5
o2
%*5 1609A9CM10
- Tightening torque
ltem Size kgf - m Ibf - ft ltem Size kgf - m Ibf - ft
1 | M6X1.0 1.0510.2 76714 4 M8x1.25 | 4.05+0.8 29.3+538
M 8x1.25 25*05 18.1+3.6 5 M10Xx1.5 6.971.4 49.910.1
M 8x1.25 343107 24.8*5.1 6 M16x2.0 290.7*45 215+£325

9-11



3. COWLING MOUNTING

Radiator hood

Side cover(LH)

1609A9CM11

- Tightening torque
ltem Size kgf - m Ibf - ft
1 M8Xx1.25 25105 18.113.6
M10Xx1.5 691714 49.9710.1
M12X1.75 12.813.0 92.6+t21.7

9-12



4. COUNTERWEIGHT AND COVERS MOUNTING

Handle pipe

Swing bearing
grease drain cover

Pump under cover

H/tank under cover
=

N . Radiator under cover
J

Cab under cover(C)

F/tank under cover

Cab under cover(B)
Cab under cover(A)

1609A9CM12

- Tightening torque

ltem Size kof - m Ibf - ft
1 M10Xx1.5 6.9t1.4 49.9110.1

M12X1.75 12.8+3.0 92.6t21.7

M30x3.0 199130 14391217

9-13





